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Pre Calculus
Chapter 5 Review
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Verify that each of the following is an identity.
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se the sum or difference identities to find the exact value of each function.

8. sin 105° 9. tan(—l——] f;m( (5 ) 10. cos 10°cos 20° — sin 10°sin 20°

sin (#5+60) v (15-60) = e (10 +20)

. - n -—

i (‘5) s (é()) + cos () 5&[60) = Cos ‘;303

ELL e =8 tunlss) — tun(t0)

= . g T z s —

g = [ + faalss )f“”[éo) ‘:
Jz e

_ _ (- 1-2J3 13 2

1 = =d Lz ) () (-3 :L{”J'”'—Zi-\r
[ +1-J3 l ‘h/- (13 )

Use the sum and difference identities to verify that each of the following is an identity.
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Use double angle identities to write each of the Jollowing as the function of one angle. Simplify your answer. |
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// For questions 18-21, solve each equation for [0, 2n).
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For quest;';1 22-23, solve each equation for all values.
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